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Y12 Pure Chapter 2— Quadratics

[ What do | need to be. abke to do? V12 = Chavter 2 Quadratics

By the end of this chapter wou should be abke to: hﬁ!lwgdsi
«  Sohe quadratic equatiors wsng factorsation, the quadralc »  Cuadrate — \where the hfest exporert, (ndex/power] of
formul and competing the square the. varable. & 6 square ()
»  Read and use flx) rotation when working with furctiors «  Furction — 0 special relationship where each nput hos a
«  Skefch the graph and find the tuming porl of & quadratic angk oulpul. L & often willen e Tl where x & The rpul
furection wale
*  Find ard inferpret the dserminart of o quadratic expression *  Doman— Ol the uakes thal g0 rilo 6 furclion
*  Use and apply modek that rnvole. quadratic functiors *  Eongg — Tre sef of ol oulpul vakes of a furction
———— |« Dmeamnant — The expressin b — 4ac wsed when soking
I — Ouadral e Equalions. | can “decrminale” betwean the possible
Soling quadratic equations lypes of ansner

Remember that to solie a quadratic equation uou should [Wﬂ ceneral shape of a quadralic graph:
colect all the terms on ore side so that the other side. of

the equation & 0. y =t \/ y=—xt /\

Wwhen you solie the equalion, it uou have found the roots

lig. where. the graph of the quadralic furction crosses the .
x-t6) Compkling the square
Faclorising Completing the square can be used to sole o
Put the quadratic irto brackets If the produet of two :i'?mip eﬁlﬂ?ﬁ I:ut L . ?B;“E’U mﬂ; nf el
expressions & 2ero ore or both of them must be equal to ermning (e tumng pont of @ quadrali furclion
2er0. 5
Eg Sohe x? +6x+8 =*[_}_~_#_, e reed oo rurbers that odd 1o The complted square form boks ke this
(x+4)(x+2)S 0 [l ini A(x+B)Y*+C=0
x+4=0o0x+2=0 . Y
Therefore: x = =4 or x = =2 Where the tomng port & (%, 0
. Remembed I you reed to sole the quadratic to find \
The quadrle | oo DTV —4ac || tre roots and i is dkeady in the complted square
2 .
EgSobe 3x2 —Tx —1=0 a fmm,@dfﬂm&dtntfaﬁzmormetmmm
a=3 b=-7 ¢=-| LjﬂJE-EﬂJJS fﬁﬁffﬁfﬁﬁ.ﬂ X. J
L
Substitute irto the formuka The discriminart
- Pt syl e 8 The. expression irside. the. square rool sin is caled
=(=7 =T)1e=4 x (3 =1)  vackel (o o any
2= TENEICTEAXG XD, T |ty vt Tl you e lpe of oo T
Mok sre 1w v uour expect

Therefore: x = ZV8L o = Z2¥6T GUEin2 | | Fb2—dacs0 trere e dredlrools AL
esenarifokes | | fio the cirve crosses the x-ais in 2 plices)

¥ thewsy 3 or bp
e ke e g e F b*—4ac=0 there & | red root \J
s fie. the. cunve. touches the x-axs in | place)
i F b2—4ac<0 there are ro real rools tT f

lie. the curve does ot cross the. x-oxis)
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